I:In this Maple sheet, we compute the Lax matrices using the asymptotics of the wave functions and the
local diagonalization for the second element of the Painlevé 2 hierarchy.
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Loading previous results on the coefficient of the spectral curve

We first use the expression of the coefficients of the spectral curve in terms of the irregular times
| and monodromies.

> restart:
CoherenceEquationl :=tinftyl0+tinfty20;
tinfty20:=-tinftyl0:

Pinfty0l := -tinftyll-tinfty2l;
Pinftyll := -tinftyl2-tinfty22;
Pinfty2l1 := -tinftyl3-tinfty23;
Pinfty31l := -tinftylé4-tinfty24;
Pinfty62 := tinftyl4*tinfty24;
Pinfty52 := tinftyl3*tinfty24+tinftyld*tinfty23;

Pinfty42 := tinftyl2*tinfty24+tinftyl3*tinfty23+tinftyl4d~*
tinfty22;

Pinfty32 := tinftyll*tinfty24+tinftyl2*tinfty23+tinftyl3*
tinfty22+tinftyl4*tinfty2l;
Pinfty22 := tinfty20*tinftyl4+tinftylO*tinfty24+tinftyll*

tinfty23+tinftyl2*tinfty22+tinftyl3*tinfty2l;

Pl:=x-> Pinfty0l+Pinftyll*x+Pinfty21*x*2+Pinfty31*x*3:

P2:=x-> Pinfty02+Pinftyl2*x+Pinfty22*x*2+Pinfty32*x*3+Pinfty42*
x*4+Pinfty52*x*5+Pinfty62*x”*6:

CoherenceEquationl = tinftyl0 + tinfty20 (1.1)
Pinfty0l = -tinftyll — tinfty21
Pinftyl 1 = -tinftyl2 — tinfty22
Pinfty21 = -tinftyl3 — tinfty23
Pinfty31 = -tinftyl4 — tinfty24
Pinfty62 = tinfty14 tinfty24
Pinfty52 = tinftyl3 tinfty24 + tinfty14 tinfty23
Pinfty42 = tinftyl2 tinfty24 + tinftyl3 tinfty23 + tinfty14 tinfty22
Pinfty32 = tinftyl 1 tinfty24 + tinftyl2 tinfty23 + tinfty13 tinfty22 + tinfty 14 tinfty21
Pinfty22 := -tinftylO0 tinftyl4 + tinfty10 tinfty24 + tinftyl 1 tinfty23 + tinftyl2 tinfty22

+ tinfty13 tinfty21

Expression of the Lax matrix L

| Study of the asymptotics at infinity

> logPsilInfty:=-tinftyl4/4/h*lambda*4-tinftyl3/3/h*lambda”3-
tinftyl2/2/h*lambda”*2-tinftyll/h*lambda-tinftyl0/h*1n (lambda)+
A10-A12/(2-1) /lambda* (2-1)-A13/ (3-1) /lambda” (3-1) -A14/ (4-1)

/lambda“* (4-1) -A15/ (5-1) /lambda” (5-1) -Al16/ (6-1) /lambda” (6-1) -



Al17/(7-1) /lambda” (7-1) ;
logPsi2Infty:=-tinfty24/4/h*lambda*4-tinfty23/3/h*lambda”3-
tinfty22/2/h*lambda*2-tinfty21/h*lambda-tinfty20/h*1n (lambda)
-1*1n(lambda)+A20-A22/(2-1) /lambda”* (2-1) -A23/(3-1) /lambda” (3-1)
-A24/(4-1) /lambda” (4-1) -A25/ (5-1) /1lambda”* (5-1) -A26/ (6-1)
/lambda* (6-1) -A27/(7-1) /lambda”* (7-1) ;
LlogpsilInfty:=-Ltinftyl4/4/h*lambda”4-Ltinftyl3/3/h*lambda”*3-
Ltinftyl2/2/h*lambda*2-Ltinftyll/h*lambda-Ltinftyl0/h*1ln
(lambda) +LA10-LAl12/ (2-1) /lambda” (2-1) -LA13/ (3-1) /lambda” (3-1) -
LAl14/(4-1) /lambda” (4-1) -LA15/(5-1) /lambda” (5-1) -LA16/ (6-1)
/lambda”* (6-1) -LA17/(7-1) /lambda”* (7-1) ;
Llogpsi2Infty:=-Ltinfty24/4/h*lambda*4-Ltinfty23/3/h*lambda”*3-
Ltinfty22/2/h*lambda*2-Ltinfty21l/h*lambda-Ltinfty20/h*1ln
(lambda) +LA20-LA22/ (2-1) /1lambda”* (2-1) -LA23/ (3-1) /1lambda”* (3-1) -
LA24/(4-1) /lambda* (4-1) -LA25/ (5-1) /lambda” (5-1) -LA26/ (6-1)
/lambda”* (6-1) -LA27/ (7-1) /lambda”* (7-1) ;

LpsilInfty := exp(l/h*(-tinftyl4/4*lambda*4-tinftyl3/3*lambda”3
-tinftyl2/2*lambda*2-tinftyll*lambda-tinftyl0*1ln (lambda)+h*A10-
h*Al2/lambda-1/2*h*A13/lambda*2-1/3*h*Al14/lambda*3-1/4*h*
Al5/lambda”4-1/5*h*A16/lambda~5-1/6*h*Al17/lambda”6)) *1/h* (-
Ltinftyl4/4*lambda”4-Ltinftyl3/3*lambda*3-Ltinftyl2/2*lambda*2-
Ltinftyll*lambda-Ltinftyl0*1ln(lambda)+h*LA10-h*LAl2/lambda-1/2%
h*LAl13/lambda”2-1/3*h*LAl14/lambda*3-1/4*h*LAl15/1lambda*4-1/5*h¥*
LAl6/lambda”5-1/6*h*LA17/1lambda”6) ;

Lpsi2Infty := exp(l/h*(-tinfty24/4*lambda*4-tinfty23/3*lambda”3
-tinfty22/2*lambda*2-tinfty2l*lambda-tinfty20*1n(lambda)-h*1ln
(lambda) +h*A20-h*A22/lambda-1/2*h*A23/lambda*2-1/3*h*
A24/lambda”“3-1/4*h*A25/lambda*4-1/5*h*A26/lambda”~5-1/6*h*
A27/lambda”6))*1/h* (-Ltinfty24/4*lambda”~4-Ltinfty23/3*lambda*3-
Ltinfty22/2*lambda*2-Ltinfty2l*lambda-Ltinfty20*1n (lambda)+h*
LA20-h*LA22/lambda-1/2*h*LA23/lambda”*2-1/3*h*LA24/lambda*3-1/4%*
h*LA25/lambda”4-1/5*h*LA26/lambda*5-1/6*h*LA27/1lambda”6) ;
psilInfty:=exp (logPsilInfty) ;

psi2Infty:=exp (logPsi2Infty) ;

dpsildlambdaInfty:=diff (psilInfty,lambda) :
dpsi2dlambdaInfty:=diff (psi2Infty,lambda) :
d2psildlambda2Infty:=diff (psilInfty,lambda$2) :
d2psi2dlambda2Infty:=diff (psi2Infty,lambda$2) :

WronskianLambdaInfty:=h*factor (psilInfty*dpsi2dlambdaInfty-
psi2Infty*dpsildlambdaInfty) :



WronskianLambdabisInfty:=h*simplify (factor( (diff (logPsi2Infty,
lambda) -diff (logPsilInfty, lambda) ) *exp (logPsilInfty+
logPsi2Infty))):

WronskianTildeLambdaInfty:=h*3*factor (dpsi2dlambdaInfty*
d2psildlambda2Infty-dpsildlambdaInfty*d2psi2dlambda2Infty) :
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> L21Infty:=factor (simplify
(WronskianTildeLambdaInfty/WronskianLambdabisInfty)) :

=factor (-residue (L21Infty/lambda”*8,lambda=

=factor (-residue (L21Infty/lambda*7,lambda=

:=factor (-residue (L21Infty/lambda”6, lambda=

=factor (-residue (L21Infty/lambda”*5, lambda=
=factor (-residue (L21Infty/lambda*4,lambda=

=factor (-residue (L21Infty/lambda”*3, lambda=



infinity));
L21InftyOrderlambdal :=factor (-residue (L21Infty/lambda”*2, lambda=
infinity))
L21InftyOrderlambdal:=factor (-residue (L21Infty/lambda”l, lambda=
infinity));

factor (simplify (L21InftyOrderlambdaé6*lambda”6+
L21InftyOrderlambda5*lambda”5+L21InftyOrderlambda4*lambda*4+
L21InftyOrderlambda3*lambda”3+L21InftyOrderlambda2*lambda”2- (-
P2 (lambda) +Pinfty02+Pinftyl2*lambda-h*lambda*2*tinftyl4))) ;
L21InftyOrderlambda7 == 0 2.2)
L2 1InftyOrderlambda6 = - tinftyl4 tinfty24
L21InftyOrderlambda5 == -tinftyl3 tinfty24 — tinfty14 tinfty23
L21InftyOrderlambda4 = -tinftyl?2 tinfty24 — tinfty13 tinfty23 — tinfty14 tinfty22
L21InftyOrderlambda3 = -tinftyll tinfty24 — tinfty12 tinfty23 — tinfty13 tinfty22
— tinftyl4 tinfty21
L21InftyOrderlambda?2 := - h tinftyl4 + tinfty10 tinfty14 — tinfty10 tinfty24
— tinftyl 1 tinfty23 — tinfty12 tinfty22 — tinfty 13 tinfty21

1 . . . 2
L211 1= Al2 h 14 24 —AI2 h 24
nftyOrderlambda tinfty24 + tinfiy 14 ( tinfty14 tinfty tinfty

+A22 h tinfzy]42 — A22 h tinftyl4 tinfty24 — h tinfty13 tinfty14 + h tinfty 14 tinfty23
+ tinfty10 tinfty 13 tinfty14 — tinfty 10 tinfty 13 tinfty24 — tinfty 10 tinfty 14 tinfty23
+ tinfty10 tinfty23 tinfty24 — tinftyl 1 tinfty14 tinfty22 + tinftyl 1 tinfty22 tinfty24
— tinfty12 tinfty14 tinfty21 + tinfty12 tinfty21 tinfty24)
1

L21InftyOrderlambda() := (AI2 h tinfryl 4 tinfty23

(-tinfty24 + tinfty14)*
— 2 AI2 h tinftyl4 tinfty23 tinfty24 + A12 h tinfty23 tinfty24> + A13 h tinfty14” tinfty24
— 2 A3 h tinftyl4 tinfty24* + A13 h tinfry24° + A22 h tinftyl3 tinfty14°

— 2 A22 h tinftyl3 tinfty14 tinfty24 + A22 h tinfty13 tinfty24> + A23 h tinfty 14

— 2 A23 h tinftyl4* tinfty24 + A23 h tinfty 14 tinfty24* — h tinfty12 tinftry14®

+ h tinfty12 tinfty24* + h tinfty13” tinfty24 — h tinfty13 tinfty14 tinfty23

— h tinfty13 tinfty23 tinfty24 +2 h tinfzy]42 tinfty22 — 2 h tinfty 14 tinfty2?2 tinfty24

+ h tinfty14 tinfzy232 + tinftyl0 tinfty12 tinfzy]42 — 2 tinfty10 tinfty12 tinfty 14 tinfty24
+ tinfty10 tinfty12 tinftry24> — tinfty10 tinfty14° tinfty22

+ 2 tinfty10 tinfty 14 tinfty22 tinfty24 — tinfty10 tinfty22 tinfzyz42

— tinftyl 1 tinftyl 4 tinfty21 + 2 tinftyl 1 tinfty14 tinfty2 1 tinfty24

— tinftyl1 tinfty21 tinfty24>)

0

We get that L {2,1}behaves at infinity like

L21(lambda)= -(tinfty14*tinfty24)*lambda”6
-(tinfty13*tinfty24-+tinfty14*tinfty23)*lambda”5
-(tinfty12*tinfty24-+tinfty13*tinfty23-+tinfty14*tinfty22)*lambda”4
-(tinfty11*tinfty24+tinfty12*tinfty23+tinfty13*tinfty22+tinfty14*tinfty21)*lambda”3
-(tinfty20*tinfty14+tinfty10*tinfty24-+tinfty11*tinfty23+tinfty12*tinfty22+tinfty13*tinfty21+
h*tinfty14)*lambda”2+O(lambda)

i..e.




L_{2,1}=-P_2(lambda)+Pinfty02+Pinfty12*lambda +C1*lambda+C0 -h*lambda”2*tinfty14

| +0o(1)

| Computation of L_{2,2}

> L22Infty:=factor (h*simplify (diff (WronskianLambdabisInfty,
lambda) /WronskianLambdabisInfty)) :
L22InftyOrderlambda7:=factor (-residue (L22Infty/lambda~8,lambda=
infinity)) ;
L22InftyOrderlambda6:=factor (-residue (L22Infty/lambda”7, lambda=
infinity)) ;
L22InftyOrderlambda5:=factor (-residue (L22Infty/lambda”6,lambda=
infinity)) ;
L22InftyOrderlambdad:=factor (-residue (L22Infty/lambda*5, lambda=
infinity)) ;
L22InftyOrderlambda3:=factor (-residue (L22Infty/lambda”*4,lambda=
infinity)) ;
L22InftyOrderlambda2:=factor (-residue (L22Infty/lambda”*3, lambda=
infinity)) ;
L22InftyOrderlambdal:=factor (-residue (L22Infty/lambda”*2,lambda=
infinity)) ;
L22InftyOrderlambdal:=factor (-residue (L22Infty/lambda”*l, lambda=
infinity)) ;
L22InftyOrderlambdaMinusl:=factor (-residue (L22Infty/lambda”0,
lambda=infinity)) ;
L22InftyOrderlambdaMinus2:=factor (-residue (L22Infty/lambda”*
(-1) ,1lambda=infinity)) ;

L22InftyOrderlambda7 == 0 2.3)
L22InftyOrderlambda6 == 0

L22InftyOrderlambda5 = 0
L22InftyOrderlambda4 = 0

L22InftyOrderlambda3 = -tinftyl4 — tinfty24
L22InftyOrderlambda? == -tinftyl3 — tinfty23
L22InftyOrderlambdal = -tinftyl2 — tinfty22

L22InftyOrderlambda0 == -tinftyl 1 — tinfty21
L22InftyOrderlambdaMinusl == 2 h

1
} = h (A2 tinftyl4 — A2 tinfty24
L22InftyOrderlambdaMinus?2 -ﬁnﬁy244-ﬁnﬁy14( ( infty infty

L + A22 tinfty14 — A22 tinfty24 — tinfty13 + tinfty23) )
We deduce that L {2,2} behaves at infinity like
L {2,2}(lambda)= -(tinfty14+tinfty24)*lambda’3-(tinfty13+tinfty23)*lambda”2 -(tinfty12+
tinfty22)*lambda-(tinfty 1 1 +tinfty21)+2*h/lambda +O(1/lambda’2)
| =P1(lambda) +2*h/lambda+O(1/lambda"2)

| Formulas for L {2,2} and L. {2,1}

L {2,2}= P_1(lambda) +h/(lambda-q1)+h/(lambda-q2)
L_{2,1}=-P2(lambda)+Pinfty02+Pinfty12*lambda +C1*lambda+C0 -h*
| lambda”2*tinfty14-p1*h/(lambda-q1)-p2*h/(lambda-q2)
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> L21Form:=-P2 (lambda) +Pinfty02+Pinftyl2*lambda +Cl*lambda+CO -h*
lambda~2*tinftyl4-pl*h/ (lambda-ql) -p2*h/ (lambda-q2) ;
L22Form:=P1l (lambda) +h/(lambda-ql)+h/ (lambda-q2) ;

L21Form = - ( -tinftyl0 tinftyl4 + tinfty10 tinfty24 + tinftyl I tinfty23 + tinftyl2 tinfty22 24
+ tinfiyl3 tinfty21) X — (tinfiyl1 tinfiy24 + tinfty12 tinfty23 + tinfiyl3 tinfty22
+ tinfryl4 tinfty21) X' — (tinfiy12 tinfiy24 + tinftyl3 tinfty23 + tinfiyl4 tinfty22) X'
— (tinfiy13 tinfiy24 + tinfty14 tinfty23) X’ — tinftyl4 tinfty24 1" + CI A + CO

2, plh p2h
—h A tinftyl4 — —
iy A—ql A—q2
L22Form = ~tinftyll — tinfty21 + (- tinftyl2 — tinfty22) A + (—ﬁnﬁyl3——ﬁnﬁy23)l?—k(
h h

3
-tinftyl4 — tinfty24) A + +
| iy nfty24) A—ql A—q2

Auxiliary matrix A

[ The deformation operator is
\mathcal{L}=\hbar (alphal4\partial {t {\infty"{(1)},4} +alpha24\partial {t {\infty"{(2)},4}+
alphal3*\partial {t {\infty"{(1)},3} +alpha23*\partial {t {\infty"{(2)},3}
+alphal2*\partial {t {\infty"{(1)},2} +alpha22*\partial {t {\infty*{(2)},2}+alphall*\partial {t
| {\infty"{(1)},1} +alpha21*\partial_{t_{\infty"{(2)},1})
| Computation of A_{1,2}
> WronskianLInfty:=factor (psilInfty*Lpsi2Infty-psi2Infty¥*
LpsilInfty):
Al2Infty:=factor (simplify (WronskianLInfty/WronskianLambdaInfty)
)
YlInfty:=h*factor (dpsildlambdaInfty/psilInfty) :
Y2Infty:=h*factor (dpsi2dlambdaInfty/psi2Infty) :
Z1lInfty:=factor (LpsilInfty/psilInfty) :
Z2Infty:=factor (Lpsi2Infty/psi2Infty) :
Al2bisInfty:=factor (simplify ((22Infty-Z1Infty)/(Y2Infty-
Y1lInfty))):
AllInfty:=factor(simplify( (Y2Infty*ZlInfty-Y1Infty*Z2Infty)/
(Y2Infty-Y1Infty) )):
factor (simplify (Al2bisInfty-Al2Infty)) ;

L 0 3.1)
> Ltinftyl4:=h*alphalé4:

Ltinfty24:=h*alpha24:

Ltinftyl3:=h*alphal3:




Ltinfty23:=h*alpha23:
Ltinftyl2:=h*alphal2:
Ltinfty22:=h*alpha22:
Ltinftyll:=h*alphall:
Ltinfty21l:=h*alpha2l:
Ltinftyl10:=0:

Ltinfty20:=0:

> Al2InftyLambda4:=factor (-residue (Al2Infty/lambda”5,lambda=
infinity)) ;
Al2InftyLambda3:=factor (-residue (Al2Infty/lambda*4,lambda=
infinity)) ;
Al2InftyLambda2:=factor (-residue (Al2Infty/lambda*3,lambda=
infinity)) ;
Al2InftyLambdal:=factor (-residue (Al2Infty/lambda*2, lambda=
infinity)) ;
Al2InftyLambda0:=factor (-residue (Al2Infty/lambda”l,lambda=
infinity)) ;

Al2InftyLambdaMinusl:=factor (-residue (A1l2Infty/lambda”0,lambda=

infinity));
Al2InftyLambdaMinus2:=factor (-residue (Al2Infty/lambda* (-1),
lambda=infinity)) ;
Al2InftyLambdaMinus3:=factor (-residue (A1l2Infty/lambda” (-2),
lambda=infinity)):

A12InftyLambda4 = 0
A12InftyLambda3 = 0
AI2InftyLambda2 = 0

Al2InftyLambdal — L — 14— 024

4 -tinfty24 + tinfty14
Al2InfivLambdal) == —— I (4 a3 tinftyl4 — 4 ol 3 tinfy24
12 (~tinfty24 + tinfty14)*
— 3 al4 tinftyl3 + 3 od4 tinfty23 — 4 023 tinftyl4 + 4 023 tinfty24 + 3 024 tinftyl3
— 3 024 tinfty23)
Al12InftyLambdaMinus1 = €L !
12 (- tinfty24 + tinfty14)*
— 12 22 tinftyl4 tinfty24 + 6 a2 tinfry24* — 4 ol 3 tinftyl3 tinfty14
+ 4 al3 tinftyl3 tinfty24 + 4 ol 3 tinfty14 tinfty23 — 4 ol 3 tinfty23 tinfty24
— 3 al4 tinftyl2 tinftyl4 + 3 ad4 tinfty12 tinfty24 + 3 al4 tinfzyl32
— 6 a4 tinftyl3 tinfty23 + 3 od4 tinftyl4 tinfty22 — 3 a4 tinfty22 tinfty24
+ 3 al4 tinfty23* — 6 022 tinftyl4* + 12 022 tinfty14 tinfty24 — 6 22 tinfty24*
+ 4 023 tinftyl3 tinftyl4 — 4 023 tinftyl3 tinfty24 — 4 023 tinfty14 tinfty23

(6 a2 tinfryl4*

3.2)



+ 4 023 tinfty23 tinfty24 + 3 024 tinfty12 tinftyl4 — 3 024 tinfty12 tinfty24
—3 024 tinfzy]32 + 6 024 tinftyl3 tinfty23 — 3 024 tinftyl4 tinfty22
+ 3 024 tinfty22 tinfty24 — 3 024 tinfty23")

A12InftyLambdaMinus2 = 1 1 :
12 (-tinfty24 + tinfty14)

— 36 a1 tinftyl4* tinfty24 + 36 o1 tinfty14 tinfty24* — 12 o 1 tinfty24

— 6 al2 tinftyl 3 tinfty]42 + 12 ad 2 tinfty 13 tinfty 14 tinfty24 — 6 ol 2 tinftyl3 tinfzyz42
+ 6 a2 tinftyl4* tinfty23 — 12 a2 tinfty14 tinfty23 tinfty24 + 6 o2 tinfty23 tinfty24®
— 4 o3 tinftyl2 tinftyl4* + 8 a3 tinfty]2 tinfty14 tinfty24 — 4 o 3 tinftyl2 tinfty24*
+ 4 o3 tinftyl3* tinftyl4 — 4 o3 tinftyl3 tinfty24 — 8 o 3 tinftyl3 tinfty14 tinfty23
+ 8 al 3 tinftyl3 tinfty23 tinfty24 + 4 ol 3 tinﬁy142 tinfty22

— 8 3 tinftyl4 tinfty22 tinfty24 + 4 ol 3 tinftyl4 tinfty23* + 4 o 3 tinfty22 tinfty24*
— 4 o3 tinfty23” tinfty24 — 3 od4 tinftyl1 tinftyl4* + 6 ad4 tinftyl1 tinfty14 tinfty24
— 3 al4 tinftyl ] tinfty24* + 6 o4 tinfty12 tinftyl3 tinfty14

— 6 al4 tinftyl2 tinftyl3 tinfty24 — 6 ad4 tinftyl2 tinfty 14 tinfty23

+ 6 al4 tinftyl2 tinfty23 tinfry24 — 3 o4 tinftyl3 + 9 a4 tinfryl3* tinfty23

— 6 a4 tinftyl3 tinfty14 tinfty22 + 6 o4 tinftyl3 tinfty22 tinfty24

— 9 o4 tinftyl3 tinfty23* + 3 od4 tinfty14* tinfty2] — 6 a4 tinfty14 tinfty21 tinfty24
+ 6 al4 tinftyl4 tinfty22 tinfty23 + 3 al4 tinfty21 tinfzyz42

— 6 a4 tinfty22 tinfty23 tinfty24 + 3 a4 tinfty23 — 12 021 tinftyl4

+36 021 tinftyl4* tinfty24 — 36 021 tinftyl4 tinfry24* + 12 21 tinfty24

+ 6 022 tinftyl3 tinftyl4* — 12 022 tinftyl3 tinfty14 tinfty24 + 6 022 tinftyl3 tinfty24®
—6 22 tinfzy]42 tinfty23 + 12 22 tinfty 14 tinfty23 tinfty24 — 6 022 tinfty23 tinfzyz42
+ 4 023 tinftyl2 tinftyl4* — 8 023 tinfty12 tinfty14 tinfty24 + 4 023 tinftyl2 tinfty24*
—4 23 tinfzy]32 tinftyl4 +4 023 tinfzy]32 tinfty24 + 8 023 tinfty13 tinfty14 tinfty23
— 8 023 tinftyl3 tinfty23 tinfty24 — 4 023 tinfty14* tinfty22

+ 8 023 tinftyl4 tinfty22 tinfty24 — 4 023 tinftyl4 tinfty23* — 4 023 tinfty22 tinfty24*
+ 4 023 tinfty23 tinfty24 + 3 024 tinfty11 tinftyl4* — 6 024 tinftyl1 tinfty14 tinfty24
+ 3 24 tinftyl 1 tinfty242 — 6 24 tinftyl2 tinfty13 tinfty14

+ 6 024 tinftyl2 tinftyl3 tinfty24 + 6 024 tinftyl2 tinfty14 tinfty23

— 6 024 tinftyl2 tinfty23 tinfty24 + 3 024 tinftyl3 — 9 024 tinftyl3* tinfty23

+ 6 024 tinftyl3 tinfty14 tinfty22 — 6 024 tinftyl3 tinfty22 tinfty24

+9 024 tinftyl3 tinfty23* — 3 024 tinfty14* tinfty2] + 6 024 tinfty14 tinfty21 tinfty24
— 6 024 tinftyl4 tinfty22 tinfty23 — 3 024 tinfty21 tinfty24*

+ 6 024 tinfty22 tinfty23 tinfty24 — 3 024 tinfty23")

[ We get that A_{1,2}=(alphal4-alpha24)/4/(tinfty14-tinfty24)*lambda+nu+mul/(lambda-q1)
| +mu2/(lambda-q2)

> Al2Form:=(alphald4-alpha24)/4/ (-tinfty24+tinftyl4) *lambda+nu+
mul/ (lambda-ql) + mu2/ (lambda-q2) ;
Al2Formbis:=(alphald4-alpha24)/4/ (-tinfty24+tinftyl4) *lambda+nu+

(12 a1 tinfry14




(nul* (lambda- (ql+g2) ) +nu2) / (lambda-ql) / (lambda-q2) ;
Equationmul :=-residue (Al2Form, lambda=infinity) -
Al2InftyLambdaMinusl:

Equationmu?2:=-residue (Al2Form*lambda, lambda=infinity) -
Al2InftyLambdaMinus2:

mul:= - (nul*g2-nu2)/(ql-q2);

mu2:= (nul*ql-nu2)/(ql-q2);

simplify (-residue (A1l2Form/lambda”2,lambda=infinity) -
Al2InftyLambdal) ;

factor (simplify (Al2Form-Al2Formbis)) ;

solve ({factor (-residue (A12Form/lambda,lambda=infinity))=
Al2InftyLambdalO}, {nu}) ;

nu:=- (3*alphal4*tinftyl3-3*alphal4*tinfty23-3*alpha24¥*
tinftyl3+3*alpha24*tinfty23-4*alphal3*tinftyl4+4*alphal3*
tinfty24+4*alpha23*tinftyl4-4*alpha23*tinfty24)/(12* (tinftyl4-2
-2*tinftyl4d*tinfty24+tinfty24+2)):

nubis:=-(1/4) * (tinftyl3-tinfty23)/ (tinftyl4-tinfty24)+2*
(alphal4-alpha24)+1/3* (alphal3-alpha23) / (tinftyl4-tinfty24) ;
factor (nu-nubis) ;

1 (04 —o24) M ul 7
Al2Form == —- + 3.3
O = infy2d + tinfryld ¥ T A—gl  A—gq2 63
: 1 (ad4—a24) A vi (A—ql —q2) +2
Al2Formbis == — : - +v+
4 -tinfty24 + tinfty14 (A—ql) (A—q2)
_ vig2—w2
M=
_vlgl—w2
L= =g
0
0
{V - L I — (4 013 tinftyl4 — 4 a3 tinfty24 — 3 o4 tinfiyl3
12 (-tinfty24 + tinfty14)

+ 3 al4 tinfty23 — 4 @23 tinftyl4 + 4 023 tinfty24 + 3 024 tinfryl3 — 3 024 tinfty23) }

. | (-tinfty23 + tinfiy13) (ad4 —c24) 1 al3 — 23
nuoits ‘= - —- - N N
4 (- tinfty24 + tinfry14)* 3 -tinfty24 + tinfty14
0

> nul:=Al12InftyLambdaMinusl:
nu2:=Al2InftyLambdaMinus2:
simplify (Equationmul) ;
simplify (Equationmu2) ;

0 3.4



_ 0

> Al2InftyLambdaMinuslbis:=-(1/4)* ((tinftyl2-tinfty22)* (tinftyl4-
tinfty24) - (tinftyl3-tinfty23)+2 )/ (tinftyl4-tinfty24)+3*
(alphal4-alpha24)
-(1/3)* (tinftyl3-tinfty23)/(tinftyld-tinfty24)*2* (alphal3-
alpha23)
+ (alphal2-alpha22) / (2* (tinftyl4-tinfty24)) ;
factor (series (Al2InftyLambdaMinusl-Al2InftyLambdaMinuslbis,
alphal3=0)) ;

A12InftyLambdaMinus 1 bis := @A3.5)

X 1 < (((~tinfiy22 + tinfty12) (-tinfty24 + tinfty14)
4 (-tinfty24 + tinftyl4)

 (rinfiy23 + tinfiyI3)) (odd — a4 ) — A (123 T tinfiyl3) (o3 — o23)
3 (- tinfty24 + tinfty14)
al2 — 22
-2 tinfty24 + 2 tinfty14

0
> Al2InftyLambdaMinus2bis:=-(1/4)* ((tinftyll-tinfty2l) * (tinftyl4-
tinfty24)*2-2* (tinftyl2-tinfty22) * (tinftyl4-tinfty24) * (tinftyl3
-tinfty23) +(tinftyl3-tinfty23)23)/(tinftyld-tinfty24)~4*
(alphal4-alpha24)
-(1/3)*((tinftyl2-tinfty22) * (tinftyl4-tinfty24) - (tinftyl3-
tinfty23)+2)/(tinftyld-tinfty24)*3* (alphal3-alpha23)
-(1/2)* (-tinfty23+tinftyl3)/ (tinftyl4-tinfty24)+2* (alphal2-
alpha22)
+(alphall-alpha2l)/ (tinftyld-tinfty24) ;
factor (series (Al2InftyLambdaMinus2-Al12InftyLambdaMinus2bis,hg=0)
)i
A12InftyLambdaMinus2bis := - L I
4 (-tinfty24 + tinfry14)*
—ﬁnﬁy24-+tﬁybd4)2——2 (-tinfty22 + tinftyl2) ( -tinfty24 + tinftyl4) ( -tinfty23
+ tinftyl3) + (- tinfty23 + tinfty13)>) (a4 — 024))
1 1

-3 EPeT— (((-tinfty22 + tinfty12) ( -tinfty24 + tinfty14)
114 mn

(((-tinfry21 + tinfiyl 1) ( (3.6)

— (rinfiy23 + tinfiyi3)) (d3 — c23)) — L {ZHinf23 T tinfiy13) (2 - 22)
2 (- tinfty24 + tinfty14)
ol — 2l
“tinfty24 + tinfty 14

;Computation of A {1,1}
> AllInftyLambda6:=factor (-residue (AllInfty/lambda”7,lambda=
infinity));




AllInftyLambda5:=factor (-residue (AllInfty/lambda”6,lambda=
infinity)) ;
AllInftyLambdad:=factor (-residue (AllInfty/lambda*5, lambda=
infinity)) ;
AllInftyLambda3:=factor (-residue (AllInfty/lambda”4,lambda=
infinity)) ;
AllInftyLambda2:=factor (-residue (AllInfty/lambda”3,lambda=
infinity)) ;
AllInftyLambdal:=factor (-residue (AllInfty/lambda*2, lambda=
infinity)) ;
AllInftyLambda0O:=factor (-residue (AllInfty/lambda”l,lambda=
infinity)):

AlllnftyLambda6 = 0 3.7
AlllnftyLambda5 = 0

| od4 tinfiy24 — 024 tinfty14
4 ~ tinfty24 + tinfty14

(4 a3 tinfty14 tinfry24 — 4 od 3 tinfty24*

AlllnftyLambda4 =

AllInftyLambda3 = €L I 5
12 (~tinfry24 + tinfry14)
— 3 a4 tinftyl3 tinfty24 + 3 ol 4 tinftyl4 tinfty23 — 4 023 tinfty14*

+ 4 023 tinftyl4 tinfty24 + 3 024 tinftyl3 tinfty24 — 3 024 tinfty14 tinfty23)

AllInfiyLambda2 = —— I (6 a2 tinfiy 14 tinfry24

12 (—tinfry24 + tinfty14)>
— 12 22 tinftyl4 tinfty24* + 6 a2 tinfty24 — 4 ol 3 tinfty13 tinfty14 tinfry24

+ 4 o3 tinftyl3 tinfty24® + 4 ol 3 tinfty14* tinfty23 — 4 o 3 tinfty14 tinfty23 tinfty24
— 3 al4 tinftyl2 tinfty 14 tinfty24 + 3 ad4 tinftyl2 tinfzyz42 +3 al4 tinftyl32 tinfty24
— 3 al4 tinftyl 3 tinftyl4 tinfty23 — 3 al4 tinftyl3 tinfty23 tinfty24

+ 3 a4 tinftyl4” tinfty22 — 3 od4 tinfty14 tinfty22 tinfty24 + 3 od4 tinfty14 tinfty23*
— 6 022 tinftyl4® + 12 022 tinftyl4” tinfty24 — 6 022 tinfty14 tinfty24®

+ 4 023 tinftyl3 tinftyl4 tinfty24 — 4 023 tinfty13 tinfty24* — 4 023 tinfryl4® tinfty23
+ 4 023 tinftyl4 tinfty23 tinfty24 + 3 024 tinfty12 tinfty14 tinfty24

— 3 024 tinftyl2 tinfty24> — 3 024 tinftyl 3 tinfty24 + 3 024 tinfty13 tinfty14 tinfty23
+ 3 024 tinfty13 tinfty23 tinfty24 — 3 024 tinfty]42 tinfty22

+ 3 024 tinfty14 tinfty22 tinfty24 — 3 024 tinftyl4 tinfty232)

AllInfiyLambdal = €L I - (12 od 1 tinfty14’ tinfry24
12 (~tinfry24 + tinfry14)

— 36 a1 tinftyl4* tinfty24* + 36 a1 tinftyl4 tinfty24® — 12 ol 1 tinfty24

— 6 a2 tinftyl3 tinfty 14 tinfry24 + 12 a2 tinftyl3 tinfty14 tinfty24*

— 6 a2 tinftyl3 tinfty24® + 6 o2 tinftyl4 tinfty23 — 12 ad2 tinftyl4” tinfty23 tinfty24
+ 6 a2 tinftyl4 tinfty23 tinfry24° — 4 ol 3 tinfty12 tinfty14° tinfry24

+ 8 a3 tinftyl?2 tinftyl4 tinfty24* — 4 ol 3 tinfty12 tinfy24’

+ 4 o3 tinftyl 3 tinfty14 tinfty24 — 4 ol 3 tinftyl3” tinfty24°




— 4 o3 tinftyl3 tinfty 14> tinfty23 + 4 ol 3 tinfty13 tinfty23 tinfty24®

+ 4 o3 tinftyl4 tinfty22 — 8 ol 3 tinftyl4” tinfty22 tinfty24 + 4 ol 3 tinfty14* tinfty23*
+ 4 o3 tinftyl4 tinfty22 tinfty24> — 4 ol 3 tinfty14 tinfty23” tinfty24

— 3 a4 tinftyl ] tinfty14* tinfty24 + 6 od4 tinftyl1 tinfty14 tinfty24*

— 3 al4 tinftyl ] tinfty24® + 6 a4 tinftyl2 tinfty13 tinfty14 tinfty24

— 6 a4 tinftyl2 tinftyl3 tinfty24> — 3 ol 4 tinftyl2 tinfty 14 tinfty23

+ 3 al4 tinfty2 tinfty23 tinfty24* — 3 o4 tinfty13 tinfty24

+ 3 a4 tinftyl3 tinfty14 tinfty23 + 6 o4 tinfty13” tinfty23 tinfty24

— 3 a4 tinftyl3 tinfty14* tinfty22 — 6 od4 tinftyl3 tinfty14 tinfty23*

+ 3 a4 tinftyl3 tinfty22 tinfty24> — 3 o4 tinftyl3 tinfty23” tinfty24

+ 3 al4 tinfty 14 tinfty2] — 6 a4 tinftyl4* tinfty21 tinfty24

+ 6 al4 tinftyl4 tinfty22 tinfry23 + 3 o4 tinfty14 tinfty21 tinfty24®

— 6 a4 tinftyl4 tinfty22 tinfty23 tinfry24 + 3 o4 tinfty14 tinfty23® — 12 021 tinftyl4'
+36 021 tinftyl4 tinfty24 — 36 021 tinfty14* tinfty24* + 12 021 tinfty14 tinfty24

+ 6 022 tinftyl3 tinfty14* tinfty24 — 12 022 tinfty13 tinfty14 tinfty24*

+ 6 022 tinftyl3 tinfty24® — 6 022 tinftyl4 tinfty23 + 12 022 tinfty14* tinfty23 tinfty24
— 6 022 tinftyl4 tinfty23 tinfry24> + 4 023 tinfty12 tinfty14” tinfry24

— 8 023 tinftyl2 tinftyl4 tinfty24* + 4 023 tinfty12 tinfty24>

— 4 023 tinfty13” tinfty14 tinfty24 + 4 023 tinfty13 tinfry24°

+ 4 023 tinftyl3 tinfty14* tinfty23 — 4 023 tinftyl3 tinfty23 tinfty24*

— 4 023 tinftyl4 tinfty22 + 8 023 tinfty14” tinfty22 tinfty24 — 4 023 tinfty14* tinfty23*
— 4 A23 tinftyl4 tinfty22 tinfzyz42 +4 023 tinftyl4 tinfzy232 tinfty24

+ 3 024 tinftyl ] tinfty14” tinfty24 — 6 024 tinfty11 tinfty14 tinfty24®

+ 3 024 tinftyl ] tinfty24® — 6 024 tinfty12 tinfty13 tinfty14 tinfty24

+ 6 024 tinftyl2 tinftyl3 tinfty24* + 3 024 tinfty12 tinfty14* tinfty23

— 3 024 tinfty]2 tinfty23 tinfty24* + 3 024 tinfty13’ tinfty24

—3 024 tinfzy]32 tinftyl4 tinfty23 — 6 024 tinfzyl32 tinfty23 tinfty24

+ 3 024 tinftyl3 tinfty14* tinfty22 + 6 024 tinftyl3 tinfty14 tinfty23*

— 3 024 tinftyl3 tinfty22 tinfry24> + 3 024 tinfty13 tinfty23” tinfty24

— 3 024 tinfty 14 tinfty2] + 6 024 tinfty14* tinfty21 tinfty24

— 6 024 tinftyl4” tinfty22 tinfty23 — 3 024 tinfty14 tinfty2 1 tinfty24*

+ 6 024 tinfty14 tinfty22 tinfty23 tinfty24 — 3 024 tinfty14 tinﬁy233)

[We get that A {1,1}=1/4*(alphal4*tinfty24-alpha24*tinfty14)/(tinfty 14-tinfty24)*lambda”4+c3*
| lambda”3+c2*lambda”2+c1*lambda +c0+ rhol/(lambda-q1)+ rho2/(lambda-q2)

> AllForm:=1/4* (alphal4*tinfty24-alpha24*tinftyl4)/ (tinftyl4-
tinfty24) *lambda*4+c3*lambda*3+c2*lambda*2+cl*lambda +c0+ rhol/
(lambda-ql) +rho2/ (lambda-q2) ;

simplify (-residue (AllForm/lambda”5,lambda=infinity) -
AllInftyLambda4) ;




AllForm :=

solve ({factor (-residue (Al1Form/lambda”4,lambda=infinity))=
AllInftyLambda3, factor (-residue (AllForm/lambda”3,lambda=
infinity))=AllInftyLambda2, factor (-residue (AllForm/lambda*2,
lambda=infinity) )=AllInftyLambdal}, {c3,c2,cl}):

4

1 (od4 tinfiy24 — 024 tinftyl4) 3 > o
4 tinfy2d + tinfiyl4 +¢3K+m2k+w]l+dﬁ%x_q]
P2

A—q2

0

> cl:= -(3*alphald*tinftyll*tinftyl4~2*tinfty24-6*alphald*

tinftyll*tinftyl4*tinfty2442+3*alphald4*tinftyll*tinfty2443-6%*

3.8

alphal4*tinftyl2*tinftyl3*tinftyl4*tinfty24+6*alphald*tinftyl2*

tinftyl3*tinfty2442+3*alphald4*tinftyl2*tinftyl442*tinfty23-3*
alphal4*tinftyl2*tinfty23*tinfty2442+3*alphal4*tinftyl343*
tinfty24-3*alphald4*tinftyl342*tinftyl4*tinfty23-6*alphald¥*
tinftyl342*tinfty23*tinfty24+3*alphald*tinftyl3*tinftyl4*2%*
tinfty22+6*alphal4*tinftyl3*tinftyl4*tinfty2342-3*alphaléd¥*
tinftyl3*tinfty22*tinfty24+2+3*alphald4*tinftyl3*tinfty2342%*
tinfty24-3*alphal4*tinftyl43*tinfty21+6*alphald*tinftyl4”2¥*
tinfty2l*tinfty24-6*alphald*tinftyl4”*2*tinfty22*tinfty23-3*
alphal4*tinftyld*tinfty2l*tinfty24+2+6*alphald*tinftyl4~*
tinfty22*tinfty23*tinfty24-3*alphald4*tinftyl4*tinfty2343-3*
alpha24*tinftyll*tinftyl4*2*tinfty24+6*alpha24*tinftyll*
tinftyld*tinfty2472-3*alpha24*tinftyll*tinfty2443+6*alpha24%*
tinftyl2*tinftyl3*tinftyl4d*tinfty24-6*alpha24*tinftyl2*
tinftyl3*tinfty2442-3*alpha24*tinftyl2*tinftyl442*tinfty23+3*
alpha24*tinftyl2*tinfty23*tinfty24+2-3*alpha24*tinftyl1343%*
tinfty24+3*alpha24*tinftyl3”2*tinftyl4d*tinfty23+6*alpha24%*
tinftyl342*tinfty23*tinfty24-3*alpha24*tinftyl3*tinftyl4*2%*
tinfty22-6*alpha24*tinftyl3*tinftyl4*tinfty2342+3*alpha24%*
tinftyl3*tinfty22*tinfty242-3*alpha24*tinftyl3*tinfty2342%*
tinfty24+3*alpha24*tinftyl4+3*tinfty21-6*alpha24*tinftyl4~2%*
tinfty2l1l*tinfty24+6*alpha24*tinftyl4*2*tinfty22*tinfty23+3%*
alpha24*tinftyl4*tinfty2l*tinfty2442-6*alpha24*tinftyl4*
tinfty22*tinfty23*tinfty24+3*alpha24*tinftyl4*tinfty2313+4%*
alphal3*tinftyl2*tinftyl4*2*tinfty24-8*alphal3*tinftyl2¥*
tinftyl4*tinfty24+2+4*alphal3*tinftyl2*tinfty2443-4*alphal3¥*

tinftyl3+2*tinftyld*tinfty24+4*alphal3*tinftyl342*tinfty24,2+4%

alphal3*tinftyl3*tinftyl4*2*tinfty23-4*alphal3*tinftyl3¥*
tinfty23*tinfty24+2-4*alphal3*tinftyl4*3*tinfty22+8*alphal3¥*

tinftyl4~2*tinfty22*tinfty24-4*alphal3*tinftyl4A2*tinfty23+2-4%*

alphal3*tinftyl4d*tinfty22*tinfty24+2+4*alphal3*tinftyl4~*



tinfty2342*tinfty24-4*alpha23*tinftyl2*tinftyl442*tinfty24+8%*
alpha23*tinftyl2*tinftyl4*tinfty2442-4*alpha23*tinftyl2*
tinfty24+3+4*alpha23*tinftyl3+2*tinftyl4*tinfty24-4*alpha23%*
tinftyl342*tinfty2442-4*alpha23*tinftyl3*tinftyl4*2*tinfty23+4*
alpha23*tinftyl3*tinfty23*tinfty24+2+4*alpha23*tinftyl4-3*
tinfty22-8*alpha23*tinftyl4+2*tinfty22*tinfty24+4*alpha23%*
tinftyl4~2*tinfty2342+4*alpha23*tinftyl4d*tinfty22*tinfty2442-4%*
alpha23*tinftyl4*tinfty2342*tinfty24+6*alphal2*tinftyl3*
tinftyl4+2*tinfty24-12*alphal2*tinftyl3*tinftyl4d*tinfty2442+6*
alphal2*tinftyl3*tinfty2423-6*alphal2*tinftyl443*tinfty23+12%*
alphal2*tinftyl4”2*tinfty23*tinfty24-6*alphal2*tinftyl4*
tinfty23*tinfty24.2-6*alpha22*tinftyl3*tinftyl4+2*tinfty24+12%*
alpha22*tinftyl3*tinftyl4*tinfty2442-6*alpha22*tinftyl3*
tinfty2443+6*alpha22*tinftyl443*tinfty23-12*alpha22*tinftyl442*
tinfty23*tinfty24+6*alpha22*tinftyl4d*tinfty23*tinfty24+2-12%*
alphall*tinftyl4”3*tinfty24+36*alphall*tinftyl4+2*tinfty2442
-36*alphall*tinftyl4*tinfty2443+12*alphall*tinfty24+4+12%*
alpha2l*tinftyl4~4-36*alpha2l*tinftyl4+3*tinfty24+36*alpha2l*
tinftyl4”22*tinfty24+2-12*alpha2l*tinftyl4*tinfty2413)/(12*
(tinftyl474-4*tinftyl4”3*tinfty24+6*tinftyl4*2*tinfty24+2-4%*
tinftyld*tinfty24.3+tinfty24+4)):

c2:= -(3*alphald*tinftyl2*tinftyl4*tinfty24-3*alphald*tinftyl2¥*
tinfty24+2-3*alphald4*tinftyl3+2*tinfty24+3*alphald*tinftyl3~*
tinftyl4*tinfty23+3*alphald*tinftyl3*tinfty23*tinfty24-3*
alphal4*tinftyl4”2*tinfty22+3*alphald4*tinftyl4d*tinfty22*
tinfty24-3*alphald4*tinftyl4*tinfty2342-3*alpha24*tinftyl2¥*
tinftyl4*tinfty24+3*alpha24*tinftyl2*tinfty2442+3*alpha24%*
tinftyl342*tinfty24-3*alpha24*tinftyl3*tinftyl4*tinfty23-3*
alpha24*tinftyl3*tinfty23*tinfty24+3*alpha24*tinftyl4~*2%*
tinfty22-3*alpha24*tinftyl4*tinfty22*tinfty24+3*alpha24*
tinftyl4*tinfty23+2+4*alphal3*tinftyl3*tinftyl4*tinfty24-4%*
alphal3*tinftyl3*tinfty24+2-4*alphal3*tinftyl4”2*tinfty23+4*
alphal3*tinftyl4d*tinfty23*tinfty24-4*alpha23*tinftyl3*tinftyl4¥*
tinfty24+4*alpha23*tinftyl3*tinfty24+2+4*alpha23*tinftyl4*2%*
tinfty23-4*alpha23*tinftyl4*tinfty23*tinfty24-6*alphal2¥*
tinftyl4*2*tinfty24+12*alphal2*tinftyl4d*tinfty2442-6*alphal2¥*
tinfty244+3+6*alpha22*tinftyl443-12*alpha22*tinftyl442*
tinfty24+6*alpha22*tinftyld*tinfty24+2)/(12* (tinftyl443-3%*
tinftyl4*2*tinfty24+3*tinftyld*tinfty24+2-tinfty2413)):

c3:=-(3*alphald4*tinftyl3*tinfty24-3*alphald*tinftyl4*tinfty23



-3*alpha24*tinftyl3*tinfty24+3*alpha24*tinftyl4d*tinfty23-4*
alphal3*tinftyl4*tinfty24+4*alphal3*tinfty24+2+4*alpha23*
tinftyl4”22-4*alpha23*tinftyl4*tinfty24)/(12* (tinftyl4+2-2%*
tinftyl4*tinfty24+tinfty2412)):

cd4:=(1/4) * (alphald*tinfty24-alpha24*tinftyl4)/ (tinftyl4-
tinfty24):

simplify (factor (-residue (AllForm/lambda*4,lambda=infinity)) -
AllInftyLambda3) ;
simplify (factor (-residue (AllForm/lambda*3,lambda=infinity)) -
AllInftyLambda2) ;
simplify (factor (-residue (AllForm/lambda*2,lambda=infinity)) -
AllInftyLambdal) ;

0 (3.9
0
0

> c3bis:=-(1/4)* (tinftyl3*tinfty24-tinftyl4d*tinfty23)/ (tinftyl4-
tinfty24)+2* (alphal4-alpha24)
+1/3* (alphal3*tinfty24-alpha23*tinftyld4)/ (tinftyl4-tinfty24) ;
factor (series (c3-c3bis,alphal4=0)) ;

1 (tinftyl3 tinfty24 — tinfty14 tinfty23) (od4 — 024)

c3bis = - > (3.10)
4 (-tinfty24 + tinftyl4)
L L a3 tinfiy2d — 023 tinfiy14
3 —tinfiy2d + tinfiyl4
0

> c2bis:=-(1/4)*((tinftyl4d-tinfty24)* (tinfty24*tinftyl2-tinftyl4d¥*
tinfty22) - (-tinfty23+tinftyl3) * (tinftyl3*tinfty24-tinftyl4~*
tinfty23))/ (tinftyl4-tinfty24)~3* (alphal4-alpha24)
-(1/3)*(tinftyl3*tinfty24-tinftyl4*tinfty23)/(tinftyl4-
tinfty24)+2* (alphal3-alpha23)
+(alphal2*tinfty24-alpha22*tinftyl4)/ (2* (tinftyld-tinfty24)) ;
factor (series (c2-c2bis,alphal4=0)) ;

2bis = -+ ! (((-tinfty24 + tinftyl4) (tinftyl2 tinfty24 (3.11)
4 (-tinfty24 + tinfty14)*
— tinftyl4 tinfty22) — ( - tinfty23 + tinfty13) (tinftyl3 tinfty24 — tinfty14 tinfty23) )
1 (tinftyl3 tinfty24 — tinfty14 tinfty23) (o3 — 023)
3 (-tinfty24 + tinfry14)*
ad2 tinfty24 — 022 tinfty14
-2 tinfty24 + 2 tinfty14

(cdd —o24)) —




> clbis:=(tinfty24*alphall-tinftyl4*alpha2l)/ (tinftyl4-tinfty24)
-(1/2)* (tinftyl3*tinfty24-tinftyl4*tinfty23)/(tinftyl4-
tinfty24)+2* (alphal2-alpha22)
-(1/3)*((tinftyl4-tinfty24) * (tinfty24*tinftyl2-tinftyl4*
tinfty22) - (-tinfty23+tinftyl3) * (tinftyl3*tinfty24-tinftyl4~*
tinfty23))/ (tinftyl4-tinfty24)+3* (alphal3-alpha23)
-1/4* (tinfty24*tinftyl3+3-tinftyl4*tinfty2343+ (2*tinftyl4+
tinfty24) *tinftyl3*tinfty2342- (2*tinfty24+tinftyl4) *tinftyl342*
tinfty23
- (tinftyl4d-tinfty24) * (2*tinftyl2*tinfty24-tinftyl4*tinfty22-
tinfty22*tinfty24)*tinftyl3
- (tinftyld-tinfty24)* (2*tinfty22*tinftyl4-tinftyl4d*tinftyl2-
tinftyl2*tinfty24) *tinfty23
+(tinftyl4-tinfty24) *2* (tinftyll*tinfty24-tinftyl4*tinfty21))/
(tinftyld-tinfty24)*4* (alphal4-alpha24)
factor (series(cl-clbis,e=0)) ;
all tinfty24 — o021 tinftyl4
- tinfty24 + tinftyl4
1 (tinftyl3 tinfty24 — tinfty14 tinfty23) (0d2 — 022)
2 (-tinfty24 + tinfty14)*
1 ! ( ((-tinfty24 + tinfty14) (tinftyl2 tinfty24
3 (-tinfty24 + tinfty14)°
— tinftyl4 tinfty22) — ( -tinfty23 + tinfty13) (tinftyl3 tinfty24 — tinfty14 tinfty23))
(013 — 23)) — + ! ((tinfiy24 tinfiy13
4 (-tinfty24 + tinfry14)*
— tinftyl4 tinfty23’ + (2 tinftyl4 + tinfty24) tinftyl3 tinfty23* — (2 tinfty24
+—ﬁnﬁy14)tﬁﬁbd32ﬁnﬁy23——(—ﬁnﬁy244—ﬁnﬁy14)(2th#bd2tﬁ7b24
— tinfty14 tinfty22 — tinfty22 tinfty24) tinftyl3 — ( - tinfty24 + tinfty14) (
- tinfty12 tinfty14 — tinfty12 tinfty24 + 2 tinfty14 tinfty22) tinfty23 + ( - tinfty24
+ tinfty14)* (tinftyl1 tinfty24 — tinfty14 tinfty21)) (od4 — 024) )
0
> clfunction:=unapply(cl,alphal4,
alpha24,alphal3,alpha23,alphal2,alpha22,alphall, alpha2l):
c2function:=unapply(c2,alphal4,alpha24,alphal3,alpha23,alphal2,
alpha22,alphall,alpha2l):
c3function:=unapply(c3,alphal4,alpha24,alphal3,alpha23,alphal2,
alpha22,alphall,alpha2?l):
nufunction:=unapply (nu,alphal4,alpha24,alphal3,alpha23,alphal2,
alpha22,alphall,alpha2?l):
nulfunction:=unapply(-(1/4)* ((tinftyl2-tinfty22)* (tinftyl4-
tinfty24) - (tinftyl3-tinfty23)+2 )/ (tinftyl4-tinfty24)+3%*

clbis =

(3.12)



(alphal4-alpha24)
-(1/3)*(tinftyl3-tinfty23)/(tinftyl4-tinfty24)*2* (alphal3-
alpha23)
+ (alphal2-alpha22) / (2* (tinftyld-tinfty24)) ,alphal4,alpha24,
alphal3,alpha23,alphal2,alpha22,alphall,alpha2l) ;
nu2function:=unapply(-(1/4)* ((tinftyll-tinfty2l)* (tinftyl4-
tinfty24) *2-2* (tinftyl2-tinfty22) * (tinftyl4-tinfty24)* (tinftyl3
-tinfty23) +(tinftyl3-tinfty23)23)/(tinftyl4-tinfty24)*4*
(alphal4-alpha24)
-(1/3)*((tinftyl2-tinfty22) * (tinftyl4-tinfty24) - (tinftyl3-
tinfty23)+2)/(tinftyl4-tinfty24)*3* (alphal3-alpha23)
-(1/2)* (-tinfty23+tinftyl3)/(tinftyl4-tinfty24)+2* (alphal2-
alpha22)
+ (alphall-alpha2l)/ (tinftyl4-tinfty24) ,alphal4,alpha24,alphal3,
alpha23,alphal2,alpha22,alphall,halpha2l);

nulfunction = (al4, 024, al3, 023, al2, 022, all, 621) — 3.13)

X 1 < (((~tinfiy22 + tinfty12) (-tinfty24 + tinfty14)
4 (-rtinfty24 + tinftyl4)

(- tinfiy23 + tinfiyl3) ) (4 — o24)) — L 123+ tinfiy]3) (ad3 — 023)
3 (- tinfty24 + tinfty14)
al2 — 22
-2 tinfty24 + 2 tinfty14

nufunction = (od4, 024, al3, 23, a2, 022, adl, o21) —

e 1 (((-ﬁnﬁy2]-+thqbdl) (—ﬁnﬁy24-+th#bd4)2——2(

4 (-tinfty24 + tinfry14)*
~tinfty22 + tinfty12) ( -tinfty24 + tinftyl4) ( -tinfty23 + tinfty13) + ( - tinfty23
+tinfty13)”) (cd4 — 024))
-1 ! (((-tinfty22 + tinfty12) (- tinfty24 + tinftyl4)

3 (-tinfty24 + tinfty14)°
(- tinfiy23 + tinfiy13)) (a3 — @23) ) — L (ZH23 + tinfiyl3) (ed2 - 22)
2 (-~ tinfty24 + tinfry14)

oll — 21
~tinfty24 + tinfty14

V¥ Verification of the theoretical formulas for cl1, c2, c3, c4

> with (LinearAlgebra) :
m:=4:
MO:=Matrix(m,m,0) :
for i from 1 to m do MO[i,i] :=(tinftyl4-tinfty24): od:
MO[2,1] :=tinftyl3-tinfty23:
MO[3,1] :=tinftyl2-tinfty22:
MO[3,2] :=tinftyl3-tinfty23:




MO[4,1] :=tinftyll-tinfty21:
MO[4,2] :=tinftyl2-tinfty22:
MO[4,3] :=tinftyl3-tinfty23:

MO;

[ tinfty24 + tinfty 14 0 0 0
- tinfty23 + tinftyl3 - tinfty24 + tinfty14 0 0 @1
-tinfty22 + tinftyl2 -tinfty23 + tinftyl3 - tinfty24 + tinfty 14 0
~tinfty21 + tinftyl1 ~tinfty22 + tinftyl2 - tinfty23 +tinftyl3 - tinfty24 + tinfty14

c3bis:=-(1/4)* (tinftyl3*tinfty24-tinftyld*tinfty23)/ (tinftyl4-
tinfty24)~2* (alphal4-alpha24)

+1/3* (alphal3*tinfty24-alpha23*tinftyl4)/(tinftyl4-tinfty24):
c2bis:=-(1/4)* ((tinftyld-tinfty24)* (tinfty24*tinftyl2-tinftyld4d»*
tinfty22) - (-tinfty23+tinftyl3) * (tinftyl3*tinfty24-tinftyl4~*
tinfty23))/(tinftyl4-tinfty24)~3* (alphal4-alpha24)
-(1/3)*(tinftyl3*tinfty24-tinftyl4*tinfty23)/(tinftyl4d-
tinfty24)~2* (alphal3-alpha23)

+ (alphal2*tinfty24-alpha22*tinftyl4)/(2* (tinftyl4-tinfty24)):
clbis:=(tinfty24*alphall-tinftyl4*alpha2l)/(tinftyl4d-tinfty24)
-(1/2)* (tinftyl3*tinfty24-tinftyl4*tinfty23)/(tinftyl4d-
tinfty24) ~2* (alphal2-alpha22)

-(1/3)* ((tinftyld-tinfty24)* (tinfty24*tinftyl2-tinftyld4d»*
tinfty22) - (-tinfty23+tinftyl3) * (tinftyl3*tinfty24-tinftyl4~*
tinfty23) )/ (tinftyl4-tinfty24)~3* (alphal3-alpha23)

-1/4* (tinfty24*tinftyl3+43-tinftyl4*tinfty2343+ (2*tinftyl4+
tinfty24) *tinftyl3*tinfty2342- (2*tinfty24+tinftyl4d) *tinftyl342%*
tinfty23

- (tinftyl4d-tinfty24)* (2*tinftyl2*tinfty24-tinftyl4*tinfty22-
tinfty22*tinfty24) *tinftyl3
-(tinftyl4-tinfty24) * (2*tinfty22*tinftyl4-tinftyl4d*tinftyl2-
tinftyl2*tinfty24) *tinfty23

+(tinftyld-tinfty24)22* (tinftyll*tinfty24-tinftyl4*tinfty21l))/
(tinftyl4-tinfty24) ~4* (alphal4-alpha24):

cdbis:=1/4* (alphald*tinfty24-alpha24*tinftyl4)/(tinftyl4-
tinfty24):

cvector:=Matrix(4,1,0):

cvector[l,1l] :=cdbis:

cvector[2,1] :=c3bis:

cvector[3,1] :=c2bis:

cvector([4,1] :=clbis:

> RHSTheo:=Multiply (MO, cvector) :



RHSTheo2:=Matrix(4,1,0):

RHSTheo2[1,1] :=(tinfty24*alphal4-tinftyl4*alpha24) /4:
RHSTheo2[2,1] :=(tinfty24*alphal3-tinftyl4*alpha23) /3+ (tinfty23*
alphal4-tinftyl3*alpha24) /4:

RHSTheo2[3,1] :=(tinfty24*alphal2-tinftyl4*alpha22) /2+ (tinfty23*
alphal3-tinftyl3*alpha23) /3+ (tinfty22*alphal4-tinftyl2*alpha24)
/4:

RHSTheo2[4,1] :=(tinfty24*alphall-tinftyl4*alpha2l) /1+ (tinfty23*
alphal2-tinftyl3*alpha22) /2+ (tinfty22*alphal3-tinftyl2*alpha23)
/3+ (tinfty2l*alphal4-tinftyll*alpha24)/4:

simplify (RHSTheo-RHSTheo?2) ;

4.2)

o O o O




